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11.3

• �ABC – 
�
��	��
�� � �� – 
������� �����
������ �� � �
�����
���, �.�. �����
�� �� ��������� � ��� �
������� � � 
�!����
(�. �) ��!� 
�
"� ��. #���
� AO = OC = R; 
• ����
��� AO: 
 º �ABC – 
�
��	��
�� �

A = B = 750 C = 1800 - 2.750 = 300

  º �� ������
� ���
��� �� �ABC 

0

62      R = AO = 61sin 30 .2
2

AB R� = � =

• ����
��� �$%  ��� ���� �� &$�; 
�� �
�
��������� �AHC ACH = 900 – 750 = 150

   OP – �����
��� �� $� (������ �.� � �����
 �� ��������� � 
�!����) OAC = OCA = 
150

�� �
�
��������� �ABK BAK = 900 – 750 = 150

OAK= CAH–( OAC+ BAK)=750–(150+150)=450
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